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BT T HART T H A S £ dn (BF) kg 750.00
2|15 HRGETE H AR SR hn () & 28.00
3| A ANFERL T (BR) &= L& A 585.00
4| i R A H AR & (BR) A 22.00
5|1 A A (F)z—TU8 kg 1,370.00
6|F LENE Loy A AR A 50.00
NFNRAHV T T7T4 A B LR kg 2,000.00
8| a Y H AR & (BR) A 12.00
9| ¢ PR A - H A S £ dn (BF) N 420.00

10[fIABALAT —FV— Iz i = () ZN 800.00
11|DFea—27 Lk YTy R R A L EER | # 81.00
12| % Y — A (Bk) = 0 N 900.00
134ma—r ey H A S £ dn (BF) A 50.00
14[SL Bz Azl (BK) B H pE &S kg 321.00
1571 —2 FLIR =55 7 28 (BF) & 270.00
16| BRI 7 42— (q)z—T78 A 540.00
17 FakL s T H AR S A in (K N 580.00
18[h=F (q)z—T78 1 880.00
19|NEDHR YT H AR S A hn (K N 660.00
20k~ AKX —K (q)z—T78 5 A 360.00
2| BN ) —I—an H AR S A& in (K & 20.00
22| R IR BT H AR B (BR) 0w 360.00
23|I T Dfe o SN T L — A LY | AR RN (BR) N 450.00
24| — 2R H AR B (BR) A 165.00
254 FLIER DR (BR) & L& 43 855.00
26| BT H Y — (B —F) (BF) & L& 43 325.00
Y E N PR0E A HARE RS (BR) A 990.00
28| L T ) — A H A2 £ ih (BR) 4% 580.00
29|F L —F =Ly vy (BF) = £ N 700.00
30| 7/ —F = (I F A —) H A2 £ oh (BR) 43 610.00
SLPRRBEN DT ()2 —TU 8 b N 660.00
32|17 Ea5Y 2 (BF) & L hh N 765.00
3B AANDHOOERERL T () = L& N 740.00
34| R &R H AR R (BR) 4% 690.00
35|y T BV—DF (FLY) HARE & (BR) A 600.00
36|72 —t—PU—nDFHE e psi g+ (BR) N 1,650.00
37| M ()2 —T & b S 340.00
38| LLFLI m fkk PP (BR) A 69.00
39| AR NI B F)=a—U & e 143.00
A0|GHINT TV DFHE H A2 8 0h (BR) 43 990.00
A E S I 27 I RERFEMA IR | H 40.00
LABE5LTLDE () = L& 18 1,298.00
43|1EL xH Dkt ()2 —T 8 4 380.00
44PN TR D FE H AR B dh (BR) % 530.00
45| U MEEINED (BR) 7V vaa KigKE kg 1,300.00
46[R725B (BR) 7y rma KigKE kg 2,800.00
A7 PEHB () IR\ B kg 2,550.00
48|S1F74L—B (F7) 71 2 AHEKPE kg 1,200.00
49|&H 5B (Bk) 7 v oaa Kig/KEE kg 1,350.00
50|7-\ A (Bk) 7 oaa Kig/KE kg 1,800.00
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51|72\ \B (Bk) 7> oaa KgAK E kg 1,800.00
52| TA S (B)z—T8 0 90.00
53|BREIEST (Bk) 7 vz KgAK E kg 2,000.00
54|.50VB (BK) 7 vma KIgKE kg 1,180.00
55 HESA (Bk) 7oz Kig/KE kg 4,200.00
56[F<AB () 7RI\ & K 260.00
57|l iex ly (Bk) 7oz Kig/KE N 750.00
58| L LA (BR) & L& kg 1,080.00
59| EfFETeEx z N () IR & kg 5,800.00
60 [V \HDHE ()2 —U A 460.00
61 |58 X177 i )z —U 8, kg 1,550.00
62|->& AL =25 5 (BF) kg 1,080.00
63|4HH A () 7LV a3—MoT-7e~ kg 1,600.00
64| b EID KA () 7LV a3—MoT- 7o~ kg 1,490.00
65| KAy 2 — AR b B3 —h (BR) kg 970.00
66| K2 — AR Ik b B —b () e 84.00
67K 2 — AL A o B3 —h (BR) kg 958.00
68|FiE T — AR L Y7 L7 () 7LV a3—-tbi=/e kg 958.00
69|KHE Al () 7LV a3—bboizla~ kg 595.00
70| HHE D A () 7LV a3—MoT- 7o~ kg 595.00
71|2—ANLATA A b i —h (k) kg 1,580.00
T2l AT —% 1 () 7LV a3—bo-a~ 58 48.00
DHE RO WAT —F)] L BI—F0) 8 75.00
AU BB A () 7LV a3—MoT- 7o~ kg 1,000.00
TS5 BB PP (BR) 43 360.00
76| EH EBF H AR R (BR) 4% 450.00
T HARA S T BT — I (Bk) =i & 223.00
18| AT HATAAT — A (— ) B L S AL 360 54 40.00
9T —X H AR S & on (K N 300.00
804V —7"ith (BR) & L b ZN 860.00
81|E el /KE 25 1h ()2 —TU 8 b [in 220.00
82|r~FrE2—L — 31} (q)z—TU8 A 180.00
83| NV TAADTE (BR) & L& kg 570.00
84|BER D=4 e psi g+ (BR) ZN 880.00
85| LTFDFHE HARE & (BR) [ 200.00
86|57 — A D ()2 —U &, kg 530.00
87|LERIT ()2 —T & b %N 240.00
88|V A (q)z—TU/ & 168.00
89[S D FEWVH FLIE =58 5 (B kg 222.00
90|z e & A HLAE (k) ik kg 397.00
91{L A FLIR = S 75 5 () kg 59.00
92UA—=T A AL =51 5 (BR) kg 70.00
93| =¥ FLIR = 5 7 3 (BR) kg 210.00
94|1xH Ao ()z—TU8 ZN 430.00
95|15 DAE (BK) B FH P kg 100.00
96| KAR S ALIE =55 7 5 (BK) kg 670.00
97|V —TLHFA FLIR = S 75 5 () kg 377.00
98 TH oL ALIE =55 7 5 (BR) kg 330.00
99| /k 3 FLIR = S 75 5 () kg 450.00
100{ 7V —2 7 23595 % (BE) ik kg 1,280.00
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101 |75 AL = 275 5 (BF) kg 270.00
102]3F v~ AL =251 5 (BR) kg 60.00
103| ¥ v (KR Al kg 134.00
104 & JIX AL =25 S (BF) kg 390.00
105|Z1F9 (k) il kg 126.00
106|H)ZIESNCA LA LR =55 3 () kg 334.00
107[Z1FH> B o4 H A SR £ dn (BF) kg 620.00
108]/MASE LR =55 3 () kg 395.00
109|LL &Y+ AL =55 5 (BR) kg 2,200.00
110|HFLZ AL =25 5 (BF) K 3.40
LT1LARL 2978 AL =55 5 (BR) kg 295.00
112[==y (FE) Hiljigk kg 318.00
113 KAR AL =55 5 (BR) kg 80.00
114|155 F 5T KE: AL =25 5 (BF) kg 350.00
115|E#& FLIR =55 7 28 (BF) kg 40.00
116|F 7oA AL =25 5 (BF) kg 320.00
117|~=h FLIR =56 & () kg 474.00
118]3=h~h AL =25 5 (BF) kg 710.00
119|755 F FLIR =55 7 28 (BF) kg 420.00
120|304k AL =25 5 (BF) kg 1,770.00
121125 FLIR =56 & () kg 630.00
122| A& LR =55 3 () kg 133.00
123[iz iz FLIR = 55 75 5 () kg 1,700.00
124| %1 LR =55 3 () kg 222.00
125| T REZ FLIR =56 & () kg 750.00
126| A% AL =25 5 (BF) kg 80.00
127]/%&Y (FR) Hiljigk kg 1,250.00
128[77 4= AL =25 5 (BF) kg 1,420.00
129" —=> FLIR = 75 5 (BK) kg 615.00
130| 7R —~< AL =25 5 (BF) kg 620.00
1313 —~ FLIR =56 5 () kg 620.00
132/1FH A AL =2 5 (BF) kg 568.00
133|412 FLIR = 2575 5 () kg 1,200.00
134[8, 2L (BE) Hiljigk kg 104.00
135|L &2 FLIE =55 5 5 (BK) kg 320.00
136 A= AIKE (k) Mk kg 286.00
137|pTHHO FLIR =565 5 () kg 790.00
138|zoxE ALIE =55 7 5 (BR) kg 245.00
139 AEHEE, FLIR =55 R (BF) kg 640.00
14ofLor (k) ik kg 350.00
141|=y> % FLIE =55 5 5 (BK) kg 420.00
142( 7R HR ALIE =55 7 5 (BR) kg 480.00
143| I RA AR — 2T A X HARE &S (BR) 4 950.00
144|230 (k) ik kg 450.00
G A e FLIE =55 5 5 (BK) kg 294.00
146|471 —> ALIE =55 7 5 (BK) kg 630.00
147|237 FLIR = S 75 5 () kg 212.00
148|W A= ALIE =55 7 5 (BR) kg 330.00
149|BRfHITF A~ H AR S in () kg 465.00
150|729 HH 9 HEmk (F)z—TU8 b 4 19.00
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151|720 E) I a— A— (k) & e A kLR = AT & 105.00
152|725 5B A LA A—T (BR) B A FLIR = 2P ] 105.00
153 [/ HIEI LA H AR S £ dn (BF) kg 600.00
1542000 NI HRDEDE (BR) B A FLIR = ZEpT A 105.00
155|053\ E RAR D& W) (k) & oA kLR = AT A 125.00
156|LHH 2 1d A (BR) B A FLIR = P A 105.00
157|397 213 A (F)a—U R, 1l 180.00
1587V =R p—H— (BR) B A kLR = ZE P A 115.00
159 B AT N (R) B A FLIR = 2EPT A 105.00
160 |fiE B EDONET-F (BR) B A kLR & ZE P A 125.00
161D T 2 — (k) & e A kLR = AT A 125.00
162 &hex (BR) B A kLR &= ZE P A 125.00
163| 4L A b B—h () kg 8,500.00
164| KE3— ()2 —T8 5 A 185.00
165|572 L 2w (F)a—U 8k N 285.00
166l —7> H RS E A () kg 710.00
167 | A FLEE B 2R (F)a—U R, %N 368.00
168 [/ Vi 2 — H AR B (BR) A 20.00
169|260 ARk BT — (F)a—TU 8k & 168.00
170| &6 H AR S E A () kg 88.00
171] B H AR S A& in (K kg 460.00




